QT IFroEX YT &R 2EHYT SHEBETEFEEFERE KSETE
FIE(P2=7)
[AS—F] [Ba—F]
EiR HEBL R 1 EiR INGEF 35kglE FE1EEE 1~2
EiR IMEZF R 2 EiR h2-3%F 50kgRil FH1EE 3
k. MeBF E1EE 3~4 EiR IN2BF E1EE 4~6
Nk INSBF E1mEE 5~8 EiR INSZF 35kgblE HEREE  7~8
Wbk M6BF oM 9~12 EiR INGILF 4okgRiE EREE  9~10
Phik  INBBF ERB 13~14 EiR INGEF 40kghl b HEFRBE 11
Wbk M6BF R 15~16 EiR $2-3%F 50kgRiE HERE 12~13
MRk h1BF 4atkell b #ERMEE 17~18 EiR IMBF HERME 14~15
Wh#k  h2-3BF 53kekiE ZERM 19 EiR INBF HERME 16~17
Phik  IMNBBF RE5 20 EiR INSEF 35kgllE RES 18
Wbk M6BF R 21 EiR INGEF 40kgRiE  REE 19
ik F1BF 4tkellE  RES 22 EiR INGEF 40kgBlE  RES 20
Wbk  $2-3%BF 53kegRiE RBE 23 EiR F1&F 45kekim RS 21
Pk $2-3BF 53keblE  RES 24 EiR h1&F 45kgbl b RE 22
EiR IN2ZF E1ME 25~26 EiR F2:3%F 50kgkiE R 23
EiR INSZF F1meE 27 =ik IMBF R B 24
EiR INEZTF 3kgRiE FE1MEE 28 =ik INBF R B 25
=ik IN6ZF 35kgRiE FE1MEE 29 =R INSBF 3okegkiE F1MEER 26~27
Bk INTF #RME  30~31 iR INSBF 3okegkiE FE2MER 28~29
EiR INSZF R 32~33 iR INSBBF 30kglE FE1EIEE 29a
EiR INKZF kgRiE EERE 34~35 =ik IN3BF 3okgXkiE FE2ME 30~31
EiR IN6E&F 3vkgRiE FEREE  36~37 =ik INBTF kg FE1EE 32
EiR N F R 38 =ik INSBF 3okgkiE HERE 33~34
EiR INSZF R 39 iR INSBBF 30kgblE HERBE 35~36
EiR INZF 32keRiE R 40 iR INBTF keXRiE HERBPE 37~38
EiR INZF 32kl Lk REE 41 iR INSBBF 30k RS 39
iR INSZF 35kgRiEm  RE 42 =R INSBBF 3okglt RES 40
e INBF 32kgRiE  RB 41
[Ca—F] [Da—K]
=ik INSBF 37keXRiE B1EE 1~6 =R IN6BF 4ao0kgRiE EH1EER 1~7
iR INBF 32kglE F1EE 7~11 =R INGBF 40kghl b 1 [EIER 8
=ik INSBF 37keXRiE E2EE 12~19 =R IN6FBF 4ao0kgRiE E2EE 9~12
iR INSBF 37kglE FE1EE 20~22 =R INGBF 40kghl L FE2MEHE 13~16
EiR INBT 32kgbl L F2EE; 23~26 =ik IN6BF 4okgkiE ERE 17~18
EiR INSBF 37keRiF FE3MEE 27~30 iR IN6BTF 4dokglbE HERBE 19~20
iR INSBBF 37kgl Lk FE2MEEE 31~34 =R F18F 47kgki FE1EEE 21~25
iR INBF 32kgl bt #ERBE 35~36 =R INGBF 4d0kgRiE  RBE 26
EiR INSBF 3TkeRiE HERBE 37~38 iR INGBF 4okl E  RBE 27
EiR INSBF 37kl R 39~40 iR F18F 4a7keRis F2EE 28~31
EiR INBF 32kl Lk REE 41 iR h2-35F 53kegRi F1EE 32~33
EiR INSBBF 3TkeRiE  REE 42 iR F18F 4a7keRid HERE 34~35
EiR INSBF 37kelE  REH 43 iR F18F 47kell b ERE 36
EiR h2-38F 53kegRiE HERE 37~38
EaN=Licii] Eik H1BF 4atkekE R 39
AR ER |BEER Bk H1BF 4atkelt RES 40
E~ch2E| 1953 | 19 Bk h2-3B7F 53kekiE  RES 41
S N N S 14 145 EiR h2-38F 53keglE Rk 42




